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 مدارس الأوائل النموذجية الخاصة للبنات
 2016-2015للعام الدراسي  )C( صف الثالث الثانوي العلمي  نموذجلمادة اللغة الانكليزية لل الإمتحان الفصليسلم تصحيح أسئلة 

1.  when the top layer of soil is destroyed .                                                                            (6 marks) 
2. Yes, it is. 

 Because it is an increasingly serious problem in over a hundred countries of the world. / Because one 
billion people, out of a total world population of six billion, suffer from its effects.             (6 marks) 

3.  trees and plants                                                                                                                         (6 marks) 
==========================================================================  

4.  erodes   ( 5 marks )                                                   5. dust    (5 marks)      
========================================================================== 
6.   Desertification usually occurs in dry areas where there is no rain and where the climate is harsh. 

 (6 marks) 
7.  Farmers tend to overcultivate their land, with the result that the soil becomes poor and unproductive. 

                                    +                                                                                                             (6 marks) 
========================================================================== 
8. c. avoid the noise of the machines   (6 marks)          9.  b. a lot of work                             (6 marks) 
========================================================================== 
10.  gravity                                           (6 marks)          11.  blindfolds                                        (6 marks) 
========================================================================== 
12.  are loosely strapped into them                                                                                                (6marks ) 
13. they don’t get the right amount of exercise.                                                                             (6 marks) 
========================================================================== 
14.  which / that ( 6 marks )                      15.  them     ( 6 marks )                        16.  was     ( 6 marks )        
========================================================================== 
17. Thus  (6marks)           18. success ( 6 marks )            19. While (6 marks)          20. bitten (6 marks)    
========================================================================== 
21.  Why do plants have to protect themselves?                                                                                               (8 marks) 
22.  How do some plants protect themselves?                                                                                  (8 marks) 
23.  Where can the poison be found?                                                                                                 (8 marks) 

24. Any logical answer is accepted.                                                                                                       (8 marks) 
========================================================================== 
25. I wish  our city would collect rubbish often enough.                                                      (8 marks) 
26. Kangaroos are hunted by people for their meat and fur.                                                (8 marks) 
27. People write things in their diaries in order not to forget important things. / In order not to forget 

important things, people write things in their diaries.                                               (8 marks) 
28. She must have got good grades in her exams.                                                               (8 marks)            
========================================================================== 
29. present simple / future simple                                      (7 marks)   
30. all past tenses                                                               (7 marks) 
========================================================================== 
31.  earnings   ( 6 marks )                32.  reorganise     (6 marks )            33.  on                   ( 6 marks )   
========================================================================== 
34. had failed ( 6 marks )                35. arrived ( 6 marks )                      36. have passed      ( 6 marks)     
============================================================================ 

         ( marks 10 )      .با مكثفا عليهلكل رائد فضاء في الطاقم دور محدد مسند إليه و يتلقى تدري  .37

38. If you misuse the equipment, it won’t / will not work properly / correctly / in the correct way / in the 
right way / in the proper way. 
If you misuse the tools, they won’t / will not work properly / correctly / in the correct way / in the right 
way / in the proper way.                                                                                                   ( 8 marks ) 

 




